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Figure. S2

SA4B0  SWE20  RKO R SW480 N SW620 ~ RKO
2 w2 " 200 ’
* * + DMSO £ 200 £ 200 = 3 T
+ + +  GSK-126 § 100] === e %100 bbb ;% 400
[mm oo ][ || e | H3K27Me3 S e g | e
S " DMSOGSK-126 = ~ DMSOGSK-126 = ~ DMSOGSK-126

[ |- | [ | H3

C D HEK293T HCT116
HEK293T HCT116 HT29 Hela g 800 . g 800 “
£ 600 £ 600
LR $P S0P P + = P
|~ L”— ”— ||—- |Ezh2 §200 L §
ND. [ e[ o e[ [==—== Dm0 N
——p - = Tubi
| | |"" ” | |-————| ubulin HT29 o
= — | . | | | | H3 > 300 - -

[———] [ ] [ e ] [ _ ] H3K27Me3 - A

=
5

DPYD expression (AU.)
= N
o o
o o (=]
DPYD expression (AU.)
o o
(=] o o

sh1  sh2 NT  shi  sh2

N W b
N W B

DPYD expression (A.U.)
DPYD expression (A.U.)
o -

0 0103 1 3 9 M 0 24 48 60 hr
GSK-126 GSK-126
G i s swex H
= HT29 =3 SW480 = SW620
e e ¢ < - - .
_ 3 200 e 3400 — % 20 =
ND. DFD %100' — %200' 2 100{ ===
(== |[== [[== |Hkim3 g S — Q
& WT KoM & WT KM & WT  K27M
[ ] [ | [ ] H3 Q S S
5 1907 = omsomm csk-126 S 2000 gwr  mmkerm
< <
S 100- 5 190
o S 1001
3 50 5
% v 50
S S
|\ O-& |\ 0-&
© W O N O © WO N O
S WO B P E AR SIRECIRC R
D N\ QP (W (© & D7 N\ QP (W (O K
q’\g@ & ¥ %\2\0 N v X



Figure. S3
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Figure. S5
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